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                                             PART – A     (10 x 2 = 20) 

Answer All the Questions 
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2. State Convolution theorem. 
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5. Examine the analyticity of the function f(z) = z2. 
 

6. Show that the function u = 2xy + 3y is harmonic and find its 

conjugate. 
 

7. State the Cauchy’s Integral theorem. 
 

8. Expand f(z) = sin z in a Taylor series about .
4

π
=z  

 

9. What is difference between population and sample? 
 

10. Write down the probability density function of χ2 – distribution.  
 



PART – B     (5 x 12 = 60) 

Answer All the Questions 
 

11. Find .
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(or) 

12. Verify the initial and final value theorem for the function  

f(t) = 1 + e-t( sint + cos t). 
 

13. Solve .04,2,052
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(or) 

14. Find y which satisfies the equation 
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15. Determine the analytic function whose real part is  

u = x
3
 – 3xy
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 + 3x

2
 – 3y

2
 + 1. 

(or) 

16. Find the bilinear transformation which maps the point -2, 0, 2 

into the points w = 0, i, -i respectively. 

17. Using Cauchy’s integral formula, find the value of ∫
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  Where C the circle |z+ 1 – i| = 2. 

(or) 

18. Evaluate ∫ −
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19. A sample of 26 bulbs gives a mean life of 990 hours with a S.D 

of 20 hours. The manufacturer claims that the mean life of bulbs 

is 1000 hours. IS the sample not up to the standard? 

(or) 

20. The number of automobile accidents per week in a certain 

community are as follows: 12, 8, 20, 2, 14, 10, 15, 6, 9, 4.  Are 

these frequencies in agreement with the belief that accident 

conditions were the same during this 10 week period? 


